DELHI PUBLIC SCHOOL, GANDHINAGAR
CLASS:5 SUBJECT: MATHS
Academic Session 2020-21
CHAPTER-1
LARGE NUMBERS

Recapitulation
* Which is the greatest 6-digit number?
Ans: 9,99,999
» How do you read this greatest 6-digit number?
* Ans: Nine lakh ninety nine thousand nine hundred ninety nine
» Write the expanded notation for the greatest 6-digit number.
* Ans: 9,00,000 + 90,000 + 9,000 +900 +90 + 9
+ Usethedigits 1, 4, 0,9, 7, 2 to build the greatest and smallest 6-digit number.
* Ans: Greatest number : 9,74,210
Smallest number: 1,02,479
7-digit numbers

9,99,999 + 1 = 10,00,000. It is the smallest 7-digit number and read as 10 lakh.

TL L TTH TH H T (8]
1 1 1 1 4
9 =] 9 =] 9 9

1 0 8] 0 (8] (o] (8]




10,00,000 is the smallest 7-digit number. It is read as 10 lakh.

INDIAN PLACE-VALUE CHART

Lakhs Period Thousands Period Ones Period
Ten
Lakhs Lakhs Ten Thousands .Thousands Hundreds Tens Ones
1 (0] | (0] | (0] | (o} 0 (0]

* The new place value added is ten lakhs. It is in
the lakhs period.

Reading of 7-digit numbers and expanded form
46,78,904 is read as Forty six lakh, seventy eight thousand, nine hundred four
Expanded form:

40,00,000 + 6,00,000 + 70,000 + 8,000 + 900 + 0 + 4

Exercise 1

Q.1 Write the number names and the expanded forms.
a) 23,89,009
Ans: Twenty three lakh eighty nine thousand nine
c) 40,00,304
Ans: Forty lakh three hundred four
Q.2 Write the numbers and the expanded forms.
a) Fifty lakh sixty-six thousand nine hundred ten
Ans: 50,66,910

50,00,000 + 0 + 60,000 + 6000 + 900 + 10 + 0
b) Thirty-two lakh five thousand ninety-three
Ans: 32,05,093

30,00,000 + 2,00,000 + 0 + 5,000 + 0 + 90 +3




c) Seventy-eight lakh fifty thousand
Ans: 78,50,000

70,00,000 + 8,00,000 +50,000+0+0+0

Q.3 Which is the greatest 7-digit number? Show it on a place value chart.

The greatest 7 - digit number is 99,99,999. The place value chart is given below:
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TEST (4 marks)

9,

* Q.1 Write the number name: (2 marks )

* a)50,35,219

* Q.2 Write the numeral and the expanded form: (2 marks )

a) Forty-three lakh twenty nine thousand nine hundred eleven

8-digit numbers

Crores
Period Lakhs Period Thousands Period Ones Period
Ten Ten Thousan | Hundre
Crores Lakhs | Lakhs Thousands ds ds Tens Ones
1 (8] (8] (8] (8] (8] (8] (8]

99,99,999 + 1 =1,00,00,000

0 0

0

0

The new place value added is crores. It is in the crores period.




Reading of 8-digit numbers and expanded form

5,21,34,678 is read as Five crore, twenty-one lakh, thirty-four thousand, six hundred seventy-
eight

Expanded form:
5,00,00,000 + 20,00,000 + 1,00,000 + 30,000 + 4,000 + 600 + 70 + 8

Exercise 2

Q.1 Write the number names and the expanded forms.

Ans: Eight crore seventy-six lakh eighty-nine thousand one hundred twenty-nine

Expanded form: 8,00,00,000 + 70,00,000 + 6,00,000 + 80,000 + 9,000 +100 + 20 + 9

Ans: Five crore twenty lakh fifty-two thousand sixty
Expanded form: 5,00,00,000 + 20,00,000 + 0 + 50,000 + 2,000 +0 + 60 + 0
Q.2 Write the numbers and the expanded forms.

a) Six crore fifty-five lakh sixty thousand eight hundred eight

C
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Expanded form : 6,00,00,000 + 50,00,000 + 5,00,000 + 60,000 +0 + 800 + 0 + 8
Q.3 Which is the greatest 8-digit number? Show it on a place value chart.

The greatest 8- digit number is 9,99,99,999. The place value chart is given below:




Exercise 3
Q.1 Compare the numbers. Fill in the blanks with >, < or =,
a) 86,32,489<1,32,00,123
c) 7,54,68,788 <7,54,86,788

Q.2 Write the number before.
a) 34,63,482

Ans : 3463482 — 1 = 34,63,481
b) 10,00,000

Ans : 10,00,000 -1 =9,99,999
Q.3 Write the number after.

a) 96,82,545

96,82,545+1 = 96,82,546
b) 1,29,39,999

1,29,39,999 + 1 =1,29,40,000
Q.4 Arrange in ascending order.

a) 18,18,745 81,18,745 1,18,81,745 8,08,745
Ans: 8,08,745 18,18,745 81,18,745 1,18,81,745
Q.5 Arrange in descending order.

a) 1,32,48,131 2,32,45,234 1,32,58,214 2,33,98,789
Ans: 233,98,789 2,32,45,234 1,32,58,214 1,32,48,131
Q.6 Make the smallest and greatest 7-digit numbers, without repeating digits.

a) 3,4,9,1,25,6
Ans: Greatest 7-digit number: 96,54,321

Smallest 7-digit number: 12,34,569




Q.7 Make the smallest and greatest 8-digit numbers, by repeating digits as required.
a)1,9,4,56,7
Ans: Greatest 8-digit number: 9,99,76,541

Smallest 8-digit number: 1,11,45,679

International Place value system

Place Value Chan

Millons Thousands Ones

Hundred | Ten Hundred |  Ten
Million | Million | Million |Thousands Thousands|Thousands | Hundred | Tens | Ones

I00.000.00013l0.000.0001l.000.000 100,000 | 10,000 | 1000 100 10 1

Exercise 4

Q.1 Write these numbers in figures and words in the Indian and
international system.

a) 369512
. L [TTH| TH H T 0
Ans: Indiannumbersystem: [3 [ 6 [ 9 | 5 | 1 | 2
In words: Three lakh sixty nine thousand five hundred twelve

R HTH|TTH | TH H T 0
Internationalsystem: 3 | 6 | 8 5 1 | 2

In words: Three hundred sixty nine thousand five hundred twelve




b) 32954602

Indian number system : -TTH ™H | H
5 4 6 0 2

In words: Three crore twenty nine lakh fifty four thousand six hundred

two
International system : -"'T"' B H
9 5 4 6 0

In words: Thirty two million nine hundred fifty four thousand six
hundred two

=
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Q.2 Census (counting of population) in India was done in 2011. The populations of some
states of India in 2011 were as follows. Write the population numbers in words.

a) West Bengal: 91,276,115
Ans: Ninety-one million two hundred seventy-six thousand one hundred fifteen
d) Delhi: 1,67,87,941
Ans: One crore sixty-seven lakh eighty-seven thousand nine hundred forty-one
Q.3 Write the following 2011 census state populations in figures.

a) Punjab: Twenty-seven million seven hundred forty-three thousand three hundred thirty-
eight

Ans: 27,743,338
c) Kerala: Thirty-three million four hundred six thousand sixty-one

Ans: 33,406,061




Q.4 Give the place value of the digit in red, in both the Indian and

international systems.
a) 321650
Indian number system

International number system

L TTH TH H T 0

HTH TTH TH H T 0

3 2|1 6.5 0

3 2 1 6 5 0

3 lakhs or 3,00,000

Rounding to the nearest 10
To round a number to the nearest 10,

Rounding to the nearest 100

3 hundred thousand or 300,000

Rounding numbers

find which multiple of 10 the number is closest to.

To round a number to the nearest 100, find which multiple of 100 the number is closest to.

Rounding to the nearest 1000

To round a number to the nearest 1000, find which multiple of 1000 the number is closest to.

Q.1 Round to the nearest 10.
a) 263

Here, 3<5

263 is rounded to 260

C) 24,666

Here, 6 >5

24,666 is rounded to 24,670

e) 83,550

Here, 0<5

83,550 is rounded to 83,550

Exercise 5




Q.2 Round to the nearest 100.
a) 687
Here, 8 >5
687 is rounded to 700
d) 49,005
Here, 0<5
49,005 is rounded to 49,000
e) 99
099 Here, 9>5
99 is rounded to 100
Q.3 Round to the nearest 1000.
a) 6592
Here,5=5
6592 is rounded to 7,000
c) 26,438
Here,4<5
26,438 is rounded to 26,000
d) 88,645
Here, 6>5
88,645 is rounded to 89,000
Q.4 48,653 people saw the cricket match between India and Srilanka.
Round the number to the nearest 100 for a newspaper headline.
Ans: Round 48,653 to the nearest 100
48,653
Here,5=5
48,653 is rounded to 48,700




Exercise 6

Q.1 Write the Hindu-Arabic numerals for:
a) XXXIX=10+10+10+9=139
b) LX =50 + 10 = 60
) XLIV=40+4=44
1) LVII =50 +7 =57
j) XCVII1 =90 + 8 = 98
Q.2 Write the Roman numerals for:
a) 45 =40 + 5= XLV
b) 58 =50 + 8 = LVIII
e)72 =50 +10 + 10 + 2 = LXXII
h) 89 =50+ 10+ 10 + 10 + 9 = LXXXIX
j)99=90+9 = XCIX

Mental Maths
1. Whatis 1 less than 4,00,00,000?
Ans: 4,00,00,000 — 1 = 3,99,99,999
2. What is 499 rounded to the nearest 1000?
Ans: 0
3. What is the successor of the greatest 7-digit number?
Ans: 99,99,999 + 1 = 1,00,00,000 (One crore)
4. How many lakhs equal to 1 million?
Ans: Ten lakhs equal to million.
5. Which cannot be repeated- I, V, X?
Ans: V cannot be repeated.
6. What is the sum of the place values of 6 in 6,78,216?
Ans: 6,00,000 + 6 = 6,00,006
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EXERCISE 1

1. Write the number names and the expanded forms.

a) 23,89,009 b) 56,32,123 c) 40,00,304
2. Write the numbers and the expanded forms.

a) Fifty lakh sixty-six thousand nine hundred ten

b) Thirty-two lakh five thousand ninety-three

c) Seventy-eight lakh fifty-six thousand

3. Which is the greatest 7-digit number? Show it on a place-value chart.

——gm—pm——— - ey m—g———

EXERCISE 2
1. Write the number names and expanded forms.
a) 8,76,89,129 b) 6,74,20,098 ¢) 5,20,52,060 @

2. Write the number and the expanded form.
_a) Six crore fifty-five lakh sixty thousand eight hundred eight
b) One crore one lakh one hundred one

c) Five crore thirty lakh fifty-five thousand ninety-nine

3. Which is the greatest 8-digit number? Show it on a place value chart.




Before and after !fff

You can get the number just before a large number by subtracting 1 from it. ?/
The number before 3,45,666 is 3,45,666 — 1 = 3,45,665 The number just before another

The number before 48,90,300 is 48,90,300 — 1 = 48,90,299  number is called its predecessor.
You can get the number just after a large number by adding 1 to it.

The number after 2,66,367 is 2,66,367 + 1 = 2,66,368 The number just after another
The number after 65,90,199 is 65,90,199 + 1 = 65,90,200 number is called its successor.
EXERCISE 3 ' - @
1. Compare the numbers. Fill in the blanks with <, > or =.

a) 86,32,489 _ 1,32,00,123 b) 80,04,875___ 80,40,578

c) 7,54,68,788 __ 7,54,86,788 d) 2,50,40,302 __ 2,50,40,203

2. Write the number b_efore.
_a) 34,53,482 b) 1,23,45,010 —€¥ 10,00,000

! '

3. Write the number after.
a) 96,82,545 b) 1,29,39,999 c) 99,99,099

4, Arrange in ascending order.
- a) 18,18,745 81,18,745 1,18,81,745 8,08,745

b) 1,22,22,622 22,26,222 22,62,222 1,22,26,222

5. Arrange in descending order.
a) 6,78,09,234 6,87,09,234
b) 1,32,48,131 2,32,45,234

6,87,90,234  6,78,90,234
1,32,58,214  2,33,98,789

6. Make the smallest and greatest 7-digit numbers, without repeating digits.
a) 3,4,9,1,2,5,6 b} 56,70,43,2
7. Make the smallest and greatest 8-digit numbers, by repeating digits as required.

a) 1,9,4,5,6,7 b) 3,0,8,5,6,4,2




EXERCISE 4

1. Write these numbers in figures and words in the Indian and international systems.
a) 369512  b) 2397010 ) 32954602  d) 60032051

2. Census (countiné of population) in India was done in 2011. The populations of some
states of India in 2011 were as follows. Write the population numbers in words.
a) West Bengal: 91,276,115
b) Karnataka: 61,095,297
¢) Himachal Pradesh: 6,864,602

d) Delhi: 1,67,87,941 {)J,_/ ;
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3. Write the following 2011 census state populations x:-j-,nv‘)"
in figures. By
2) Punjab: Twenty-seven million seven hundred oy
forty-three thousand three hundred thirty-eight : Lg-_-T 2!
h) Goa: One million four hundred fifty-eight thousand T §
five hundred forty-five et IS

¢) Kerala: Thirty-three million four hundred six thousand sixty-one
d) Meghalaya: Twenty-nine lakh sixty-six thousand eight hundred eighty-nine

4, Give the place value of the digit in red, in both the Indian and the international systems.

a) 321650 b) 2389435 «c) 70453271  d) 56409274
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EXERCISE 5
1. Round to the nearest 10.
a) 263 b) 8745 c) 24,666 d) 12,007  e) 83,550
2. Round to the nearest 100.
a) 687 b) 3863 c) 24,550 d) 49,005 e) 99
3. Round to the nearest 1000.
a) 6592 b) 999 ) 26,438 d) 9999 e) 88,645

4. 48,563 people saw the cricket match between India and Sri Lanka. Round
the number to the nearest 100 for a newspaper headline.

5. The head of a bank gets a salary of ¥ 2,34,741 per month. Round the
3 salary to the nearest 1000.

EXERCISE 6
: for:

1. Write the Hindu-Arabic numer;Is 2 XV o) XV
o) X bl o i) il j) Xcvill
noox g bex | h) XXV |

2. Write the Roman numerals for: 3
a) 45 b) 58 ) 63 d) 68 f)

f) 77 g) 84 hye . 091 j) 99

&Y




SK"-L”ECHON (Catenlation, application and analpsing skilla).....

Mental Maths
+ Wt is 1 less than 4,00,00,0007
+ 90,000,000 is 1 more than which number?
+ What is 499 rounded to the nearest 10007
By how much is 4,66,77,888 more than 4,66,77,887?

How many lakhs is equal to 1 million?
Which is greater—345 rounded to the nearest 10 or rounded to the nearest 1007

1
2
3
4,
5. What is the successor of the greatest 7-digit number?
6.
7.
8. Which of these cannot be repeated—I, V, X?

9.

What is the sum of the place values of 6 in 6,78,2167

Mixed Bag

1. Choose the correct answer.

a) The place value of the seventh digit from the right is:

i. Ten lakhs ii. Ten thousands iii. Millions iv. Both iand iii

b) 1croreis equal to:
i. Ten lakh x 10 ii. Ten million

c) 2,11,34,678 is bigger than which of the following? .
iii. 34,500,000 iv. 2,11,34,679

iii. Greatest 7 digit number +1 iv. All of these

i. 2,34,678 ii. 2,21,34,678

d) 45,604 is rounded to 45,600. It is rounded to the nearest:
i. 10 ii. 100 iii. 1000 iv. Bothiandii

e) Which of these is a valid Roman number?
i. VW i. 1 iii. LXXX iv. XLL

Give the number names and the expanded forms in the system in which these
numbers are written,

a) 4,30,47,906 b) 54,00,095 c) 28,610,706 d) 5,600,208
3. Write in figures.

a) Twenty lakh fifty-three thousand five hundred five

b) Five crore seven lakh nine hundred ninety




DELHI PUBLIC SCHOOL, GANDHINAGAR
CLASS:5 SUBJECT: MATHS
Academic Session 2020-21
CHAPTER-2
Addition and Subtraction and Their Applications

Addition and subtraction in real life

1. The population of Raigad is 45,725 and the population of Chaigarh is 54,879.

The government wants to issue Aadhaar cards to all residents of the two cities.

S
a) How many Aadhaar cards will be issued? b o
—
b) How many more Aadhaar cards will be issued in Chaigarh 1'.;.....* i
than in Raigarh? ) LocurFS
0L+ [0
e
D3¢0 R U L
g £ —\
10 0 = & =
= g ki
N

a ribbon for ¥ 24.95.
a) How much money did she spend?

b) If she gave a ¥ 500 note to the shopkeeper,
how much change did she get back?

The number you subtractfrom
The numbers beng added 5called the minuend.
are alled addends, The number you subtract s called
" thesubirahend,




Check what you know

1. Add
3 8073 b 35619 <) 32064 d ¥324 .50
+5529 +2469 2 7608 T §5:2 .78
+46530 17308 .25
2. Subtract, and check Your answer by addition.
check check
a) 65723 - b) 40000 B2
=27058_1,4,270538 -3 23885ty
e P TS
€} Subtract ¥ 125.25 from T 500.
ANSWERS
1. Add
a) 13,602  b)60,311
c) 86,202  d)5125
2. Subtract and check your answer by addition.
a) 38,665 b)27,655 c)374.75
CONCEPTSSECTION '!!

¢ Addition of large numbers

Addition of larger numbers is done in the same way as addition of smaller numbers.

Add in order: ones - tens - hundreds - thousands - ten thousands - lakhs.
Regroup where necessary. 2




€ Subtraction of large numbers

Subtraction of large numbers is done in the same way as subtraction of small numbers.
Subtract in order: ones - tens - hundreds -> thousands -> ten :
thousands - lakhs. Regroup where necessary. _ ‘@

Q.1. Add
a)65489 + 96486
. | ot | ™ W T | o
, 6 5 4 8 9
9 6 8
1 6 1 9 7 5
c) 902145 + 28369
T . C I C T
9 0 2 1 4 5
3 6
9 3 5 1 4

f) 45467 + 2957 + 134666

I O T L I
4 5 4 6 7




2) Subtract and check your answer by addition.
a)546678 - 97612

I R I I I R
5 4 6 6 7 8

c) 100000 - 999

. | ot | | s T | o

1 0] 0 0 0 0

= 9 9 9
0

0 2 9 0 1




f) 600001 - 123456

. | ot | w | W | T | o |
6 0 0 0 0 1
_ 5 6
4 7 6 4 5
Check:

S T N T Y N I
1 2 3 4 5 6

+ 4 4 5
6 0 0 0 0 1
Q3.Ms. Shalini bought two plots of land ,one for ¥1,23,456 and other for ¥2,01,678:

a) How much money did she spend altogether?
b) By how much was the second plot of land more expensive then the first?

Solution:
a) Amount Ms. Shalini spent on one land= ¥1,23,456

Amount spent on another land= ¥2,01,678
Amount she spent altogether =

SN T O CO O RN
1 2 3 4 5 6

Ms. Shalini spent ¥3,25,134 altogether.




b) Amount Ms. Shalini spent on one land =¥ 1,23,456
Amount spent on another land= ¥ 2,01,678
Here, $2,01,678 > ¥ 1,23,456
The second plot is expensive then the first plot by =

L m ™ T o
2 0 1 6 7 8
1 2 3 4 5 6

0 7 8 2 2 2

The second plot was expensive then firstby ¥78,222.

Q-5 There were two candidates in an election. Mr Bharat got
2,34,903 votes and Ms India got 1,68,799 votes:

a) How many votes were cast in all?

b)Who won the election? By how many votes?

Answer:

a) In an election,

Mr. Bharat got 2,34,903 votes

Ms. India got 1,68,799 votes

Total votes cast in all=

I S R O S CO
2 3 4 9 0 3
1 6 8 7 9 9

4 0 2 7 0 2

4,03,702 votes were cast in all.




b) Votes of Mr. Bharat = 2,34,903
Votes of Ms. India=1,68,799
2,34,903 > 1,68,799
So, Mr. Bharat won the election.

L mm v T o
2 3 4 9 0 3

1 6 8 7 9 9

0 6 6 1 0 4

Mr. Bharat won the election by 66,104 votes.

b) Votes of Mr. Bharat = 2,34,903
Votes of Ms. India=1,68,799
2,34,903 > 1,68,799
So, Mr. Bharat won the election.

L mm vt o
2 3 4 9 0 3

1 6 8 7 9 9

0 6 6 1 0 4

Mr. Bharat won the election by 66,104 votes.




@ Profit and loss

7]

| bought these Maths books from the publisher at ¥ 225 each. g
T 225 is the cost price (C.P.) of the book.

Profit
| sold the book to a student for ¥ 250.
T 250 is the selling price (S.P.) of the book.

| earned X 25 on the sale.
T 25 is the profit.
When the selling price (S.P.) is greater than the cost price (C.P.) there is a profit.
Profit = S.P. — C.P.
Bookseller's profit =¥ 250 — X225 =X 25

Loss
One of the Maths books | had got soiled. So | had to sell it
at a lower price of ¥ 210. | lost ¥ 15 on this sale. g)
T 15 is the loss.

When the cost price (C.P.) is greater than the selling price (S.P.) there is a loss.

Loss = C.P. - S.P.
Bookseller's loss =¥ 225 - 210= X 15

EXERCISE 2

Q-1 Find the profit or loss:
a) C.P.= T 648
S.P. =% 695

HERE, S.P.(PRICE AT WHICH ITEM IS SOLD) » C.P.(PRICE &T WHICH
ITEM IS BOUGHT)

so, PROFIT = S.P. — C.P.
= T695-648
= %47

d) C.P.= F 150
Cost of repair= 7 45
S.P.= 7 245

C.P.= ¥ 150

Total C.P. = C.P. + overheads

T 150+ T 45
=3195

S.P.= ¥ 245

Here, C.P. > S.P. So, it is profit.

Profit = S.P. — C.P.

245 -3 195

=3 50




Q-2 Find the profit or loss.
b)) C.P. = T 59.50
S.P. = 52.95

Here, C.P. = S.P.
So, loss = C.P. — S.P.

=3¥I59.50- ¥52.95

=76.55
c) c.Pp. = T 20,a4as
s.P= 19,995

Here, C.P. > S_.P.

So, loss = C.P. — S.P.

=T 20,445 - T 19,995

= F 450

Q-3 Find the profit or loss.
a) C.P.=720.75

Overheads = ¥ 2.75
S.p.=F 25

Total C.P. = C.P. + overheads
= §20.754% 2.75
=323.50
S.P.=% 25
Here, S.P. > C.P So, Profit =S.P.— C.P.
=325.00 - #23.50
=7 1.50

c) C.P. =212,500
Overheads = 1000
S.P.= F 13,595

Total C.P. = F C.P. + overheads
= F12,500 + F1000
= ¥ 13,500

S.P.= F13,595

Here, S.P.> C.P So, it is profit.
Profit =S.P. — C.P.
= ¥ 13,595 - T13,500
=T 95




Q-4 Balan bought a music system for F 7,500.He did not like it and sold
it for ¥6,995. Did he make Profit or Loss? How much?

Here, C.P. = ¥ 7,500
S.P. =

C.P.> S.P So, he made loss.
Loss = C.P. — S.P.

= X 7500 - 6995

= T 505
He made Loss of ¥ 505

Q-5 Peter bought a plot of land for ¥ 75,000.He spent 35,000 on

building a boundary wall around the plot.He then sold the land for
¥ 1,50,000. Find his profit or loss.

c.p.= < 75,000
Overheads = < 35,000
s.p.= ¥ 1,50,000

Total C.P.= < C.P. + overheads
= ¥ 75,000 + 35,000
= < 1,10,000

s.p.= % 1,50,000

Here, S.P.> C.P

So, Profit = S.P. — C.P.

=7 1,50,000— ¥ 1,10,000
= ¥ 40,000
Peter make profit of ¥ 40,000

Q-6 A carpenter bought a table for ¥3500.He spent 3500 on

repairing and painting it. He then sold it for ¥ 3500. What was
his profit or loss?

C.P.=7% 3500 S.P. = ¥3500
Overheads = ¥ 500 Here, C.P.>S.P
S.P. = 33500

So, Loss = C.P. —S.P.

=% 4000 - 3500
=% 500

He made a loss of ¥ 500.

Total C.P. = C.P. + overheads
= 3500 + % 500
= 74000




EXERCISE 1

1

Add
a) 65489 + 96486 b) 54009 + 45991 ic) 902145 + 28369
d) 2345 + 876555 __ e) 382078 + 249957 ) 45467 + 2957 + 134666

B) 222321465478+ 83246 h) 784567 4 563294 123456

Subtract. Check your answer by addition,
a) 546678 ~97612 b) 670812 - 3456

¢} 100000 - 999
d) 31040018605 ) 662233 640403

) 600001 - 123456

» Ms Shalini bought two plots of land, one for %1,23,456 and the other for T 2,01,678.

a) How much money did she spend altogether?

b) By how much was the second plot of land more expensive than the first?

. Ashop had sales of 9,45 400 in a year. If the expenses were 2 5,65,500,

how much money was saved in the year?

. There were two candidates in an election. Mr Bharat got

s SIS
2,34,903 votes and Ms India got 1,68,799 votes, = X

-
a) How many votes were cast in all? >

-

he election? 2 This Is the electronic voting machine
RN sectio By how o e (EVM) used for voting in India.




EXERCISE 2

1, Find the profit or los,
DOl (Y ot
$h 605 S8
b Rt et
SP=T205 5921295
( Ch=tus Pt s
§p=130 §P=1305
) CR=T150 o)
CRatigp e
Cost of repalr = T 45 a8 !
§p=225 SPt s
2, Find the proft or loss.
o] P Poftorkoss? | Amount
| |
[ S| -t
| | (0~
| s | e W |t

)| 15950 {529

¢ | 150 | R8s

g | toms | T199%




3. Find the profit or loss.

C.P. Overheads | TotalC.P S.P. Profit or loss | Amount
a) | %2075 3275 25.00
b) 759.50 76.50 ¥52.95
c) 312,500 1000 13,595
d) T20,445 3500 319,995
4. Balan bought 2 music system for ¥ 7,500. He did not like it and sold
it for ¥ 6995. Did he make a profit or loss? How much?
5. Peter bought a plot of land for ¥ 75,000. He spent ¥ 35,000 on
building a boundary wall around the plot, He then sold the land
| for T 1,50,000. Find his profit or loss.
6.

A carpenter bought a table for ¥ 3500. He spent T 500 on repairing
and painting it. He then sold it for T 3500. What was his profit or loss?
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To find the selling price
Given the cost price and the profit or loss, you can easily find the selling price ..............
You know that: Profit = S.P.- CP. Also: Loss = C.P. = S.P. -

Therefore: - §,p, = C.P. = loss

Therefore: S.P.=C.P. + profit




To find the cost price
Given the selling price and the profit or loss, you can easily find the cost price.

-------
-----------------------------------------------------------------------------------------

Loss =C.P.=S.P.
Therefore: ¢p,=5.p. +loss

* You know that: Proft = S.P.~C.
Therefore: C.P.=S.P. - profit

. o -

EXAMPLES:




Exercise 3

Q.1 Find the selling price or cost price as required.

a) C.p. = ¥ 4680

Profit = % 695 $550 Profit = 695
S.P. = C.P. + profit S.P. 7
=3 4680 + T 695
=3 5375
C) S.P. = T 6445 -
Loss =% 395 S.P = 6445 Loss = 395

C.P.=S.P. + Loss
=3 6445 + % 395
=3 6840

Q2.Find the selling price.

a) a) C.P. =¥ 85.00
Profit =¥ 15.50

Loss = ---
S.P.=7
S.P. = C.P. + profit




=3 85.00 + ¥ 15.50
=73 100.50
c) C.P. =% 23,695
Profit = ---
Loss =% 1550
SP.=7?
S.P. = C.P. - Loss
=73 23,695 - ¥ 1550
=73 22,145

Q3.Find the cost price.

a) S.P. =% 125.25
Profit =% 24.70
Loss = ---
CPhP.=7
C.P. = S.P. - Profit
=%125.25-%24.70
=3 100.55
c) S.P. =% 52,500
Profit = ---




Loss =% 3540
Cph.=7
C.P. =S.P. + Loss
=3 52,500 + % 3540
=356,040

4. Anju lost ¥ 2300 on a sofa set that she sold for ¥ 34,455. At what price did she
buy the sofa set?
Solution:
Loss Anju incurred on sofa set =3 2,300
S.P. of sofa set =¥ 34,455
C.P. of sofa set = ?
C.P. =S.P. + Loss
=73 34,455 +% 2,300
=% 36,755
Ans: Anju bought the sofa set for ¥ 36,755.

5. A carpenter sold a table for ¥ 4500. He made a profit of ¥ 450 on it. At what price
did he buy the table?

Solution:
S.P. of table = ¥ 4,500
Profit made on table = 450
C.P. of table = ?
C.P. = S.P. — profit
= ¥4,500 - 3450
= ¥ 4,050
Ans: The carpenter bought the table at ¥ 4,050.




6. Salma bought a dozen cricket balls for ¥ 1550. She wants to make a profit of
¥ 550 on them. At what price should she sell the balls?

Solution:
C.P. of dozen cricket balls = ¥ 1,550
Profit =¥ 550
S.P. of cricket balls = ?
S.P. = C.P. + profit

=% 1,550 + ¥ 550

=% 2,100 for 12 balls (dozen balls)
Profit for 1 ball =¥ 2100 + 12

=175

Ans: Salma should sell each ball at ¥ 175.




SCANNED TEXTBOOK IMAGES
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MULTIPLICATION AND DIVISION AND THEIR APPLICATIONS

What is Multiplication?

» Multiplication is repeated addition.

» The numbers that are multiplied are called factors.

» The answer of multiplication is called the product.
» Example :
2 3 factor
X 4 factor
9 2 product
In23x4=92,

» 23 and 4 are factors and 92 is the product
» 23 isalso known as multiplier and

» 4isalso known as multiplicand.

v

The answer of multiplication is called product.

»  The symbol of multiplication is X

Multiplying by a 2- digit number

» Multiply 2325 by 25

s Multiplying a 4-digit by a 2-digit number .




s Step 1 ; Multiply by ones.
s 2325x5=11625

2325
X 25
11625(2325x5)
% Step 2 : Multiply by tens.
% 2325 x 20 = 46500
2325
X 20
46500(2325x20)

¢ Step : 3 Add the products.
11625 + 46500 =58125
2325
X 25
11625(2325x5)
+ 46500(2325x20)
58125 (2325x25)
CONCEPT SECTION

» Special case of zeros.

» Examples:

a) 125 x 100 =12500 (add 2 zeros on the right )

b) 364 x 1000 = 364000 (add 3 zeros on the right )

¢) 250 x300 = 75000 ( multiply 25 by 3; add 1 + 2 = 3 zeros on the right )
d) 4300 x 4000 = 17200000 ( multiply 43 by 4; add 2 +3 =5 zeros on the

right)




EXERCISE 1:

7948
+119220
127168

d) 3742 x 66 (H. W)

g) 8090 x 503 ( H.W)

58842
+336240
395082

j) 540 x 100 = 54000

k) 6700 x 300 = 2010000
1) 28000 x 10 = 280000
h) 7009 x 709 ( H.W)

c) 5256
X405
26280
00000

+2102400

2128680

) 6525
X725
32625

130500

+4567500

4730625




v

v Vv

v v

v Vv

EXERCISE 1: WORD PROBLEM

2. A book has 248 pages. 5135 copies of the book are printed. How many
pages are printed?

Solution :
Number of pagesinabook= 248
Number of printed copies of the book =51 35
Total number of printed pages = 248 x 5135
=12,73,480
Ans : There are 12,73,480 printed pages.

Division by 2- digit numbers

DIVISION : Division means repeated subtraction.

704 Quotient

Divisor: 26118325 Dividend

Divisor : The number that we are dividing by is called
divisor.

Dividend: The number to be divided is called the dividend.
Answer of division is called Quotient.

Division by 2-digit numbers

EXERCISE 2:

1. Divide. Check your answer by multiplication.
a) 18325 + 26




w |
o A~

1
[HEN
o
N
O NE——
B Ole——

26 18

00

R

o
N
[ER

» c) 82006 + 80
1025
82006
80.L
0200
-160+v
0406

- 400

006

80

Check:

Dividend = Quotient x Divisor + Remainder
= 704x26+21
= 18304 + 21
= 18325

Check:
Dividend = Quotient x Divisor + Remainder
= 1025x80+6
= 82000 +6
= 82006

EXERCISE 2 : WORD PROBLEM

3. Ms. Nisha earns ¥ 97,080 in a year. What is her monthly earning?

Solution :

Ms. Nisha earns in a year = ¥ 97,080

Ms. Nisha earns in a month = ¥ 97,080 + 12




8090
12W
_%l

010

Ans: Ms. Nisha earns ¥ 8090 in a month.

AVERAGES

P Average= Sum of quantities

Number of quantities

» The average will always lie between the smallest and
greatest quantities in the group.

EXERCISE 2:

» 1. Find the average of these sets of numbers.
a) 40, 90, 70, 80

Solution :

Average = Sum of quantities

Number of quantities




Average= 40+90+70+80

4
Average = 280

4
Average: 70

e) 34cm, 24cm, 30cm, 22cm, 10cm
Solution :

Average = Sum of quantities

Number of quantities
Average = 34 cm+ 24 cm+ 30 cm+ 22 cm+ 10 cm
5

Average = 120cm
5

Average = 24 cm

2. Find the average of the first 9 counting numbers.

Solution :
Average = Sum of quantities
Number of quantities
Average =1+2+3+4+5+6+/7/+8+9
9
Average = 45
9
Average = 5




4. The average daily expense of the Vaidya family is ¥ 1454.How much
do they spend in a week?

Solution :
Average daily expense of the Vaidya family = ¥ 1454
In a week they spend = 31454 x 7
=%10,178
Ans : They spend ¥ 10,178 in a week.

5. The height of 6 friends in class: 150cm, 155cm, 140cm, 150cm,
145cm, 140cm.

a) Find the average height.
Solution:

Average =  Sum of quantities

Number of quantities
Average = 150cm + 155cm + 140cm + 150cm + 145¢cm +140cm
6

Average= 880cm
6
Average = 146.66 cm

b) How many children are taller than the average height? How many
children are shorter than the average height?

Solution :
3 children are taller than the average height.

3 children are shorter than the average height.




UNITARY METHOD

» Unitary method: This method of first finding the value of one by
dividing, and then the value of many by multiplying is called the

unitary method.

» Given the cost of 10 items, we can find the cost of 1 item by dividing by
10.

» Given the cost of 1 item, we can find the cost of 10 items by multiplying
by 10

EXERCISE 4:

1. The price of a dozen notebooks is < 144. Find the cost of 20 notebooks.
Solution :
1 dozen =12 items
The price of a dozen notebooks = ¥ 144
The price of a 1 notebook = 3144 +12

=312
The price of a 1 notebook =312
The price of a 20 notebooks = 12 x 20
=% 240

Ans : The cost of 20 notebooks is ¥ 240.

2.18 buses can carry 918 passengers. How many passengers can 25 buses
carry?

Solution :

Passengers in 18 buses = 918

Passengersinlbus =918+ 18
=51

Passengersin1bus =51




Passengers in 25 buses = 51 x 25
= 1275

Ans : 25 buses can carry 1275 passengers.

3. 25 bags of sugar weigh 725kg. How much dol15 bags weigh?
Solution :
25 bags of sugar weigh = 725 kg
1 bag of sugar weigh = 725 kg + 25

= 29 kg
1 bag of sugar weigh = 29 kg
15 bags of sugar weigh = 29 kg x 15

= 435kg

Ans: 15 bags of sugar weigh 435kg.

5. The cost of a box of 24 eggs is < 120. What is the cost of 6 eggs?

Solution :

The cost of 24 eggs = ¥120

Thecostof 1egg =3120+24
=35

The costof 1egg =135

The costof 6eggs =3 5x6
=30

Ans: The cost of 6 eggs is ¥ 30







DELHI PUBLIC SCHOOL, GANDHINAGAR

CLASS:5 SUBJECT: MATHS
Academic Session 2020-21
CHAPTER-8
Geometry

Check What You Know
» Basic geometrical concepts :-

» A point is an exact location in space. It is represented by a small dot. This is a
point A.

Ae

» A line is a straight path that goes on endlessly on both sides. It does not have a
beginning or an end. It is shown with the arrowheads on both sides.

A line segment is a part of line. It has two endpoints. This line segment has two
endpoints C and D. It is called lines Segment CD or CD.

C D

A ray is a part of line that goes on endlessly in one direction. This ray has one
endpoint E. F is a point on the ray. It is called ray EF and EF.




Concepts Section :-

Angles : When two rays have a common endpoint, they form an angle.

arm

h

s

vertex

Parts of an Angle

This two rays forming an angle are called the arms of the angle. BA and BC are the
arms of this angle.

The common endpoint of the rays forming an angle is called the vertex of the
angle. B is the vertex of this angle.

The angle is called angle ABC or angle CBA. It is written as ZABC or £CBA.

Note :- While naming an angle, the middle letter is always the vertex of the
angle.

arm_____

—.

vertex

Exercise 1

1.Puta ¥ onthe pairs of rays that form an angle. Name the angl.
a) v z b) B




2. Find the number of angles in each shape.

a.5 c. 8

Types of Angles
Right Angle :-

The angle made by a sleeping (horizontal) line and a standing (vertical) line is a
right angle.

A right angle is marked as Standing line

Right angle
Sleeping line

Acute Angles

Angles less than a right angle are called acute angles.




Acute angle

Obtuse Angles

Angles greater than a right angle are called obtuse angles.

IRTRIERAN
Wi
; O\ —

/\ Obtuse Angle

Straight Angles
Two right angles together make a straight angle.

A straight angle is made by two rays with a common endpoint, going in opposite
directions.

Types of angles in degrees




cute angle is ess than a right angle.

a
A right angle measures 90°. An an 0° but less than 9pe.

Therefore, it is moré th
]

Right angle Acute angle
An obtuse angle is more than 90° A straight angle measures 180°.
but less than 180°.

P o a1
Obtuse angle Straight angle

Shape Around Us

.

Exercise 2

1. ldentify the angles as right, acute, obtuse, or straight.

a. Acute angle b. Obtuse angle

.




g. Straight angle h. Right angle

2. ldentify the shape being described.

AN 1O

a. | have 4 right angles. B

b. I have 3 acute angles. A
d. I have 3 right angles and 2 obtuse angles. C
e. | have 6 obtuse angles. F

g. I havenoangles. E

3. Count the number of sides and angles in each figure. Then classify each angle.
Fill in the table.

b
a) )M
P o)




No. of No. of Right Acute Obtuse
sides Angles Angles Angle Angle
a) |3 3 1 2 -
b) |4 4 2 1 1

Measuring Angles
Using a protractor to measure an angle
= Place the midpoint of the protractor on the VERTEX of the angle.

= Line up one side of the angle with the zero line of the protractor (where you
see the number 0).

= Read the degrees where the other side crosses the number scale.

Note:
The inner scale goes from right to left.

The outer scale goes from left to right.

Video on measuring angles.

https://www.youtube.com/watch?v=yQW1fzVS354

Drawing Angles
« Draw a straight line (i.e. an arm of the angle).
+«¢ Place a dot at one end of the arm. This dot represents the vertex of the angle.

¢ Place the centre of the protractor at the vertex dot and the baseline of the
protractor along the arm of the angle.



https://www.youtube.com/watch?v=yQW1fzVS354

¢ Find the required angle on the scale and then mark a small dot at the edge of

the protractor.
«+ Join the small dot to the vertex with a ruler to form the second arm of the

angle.
+» Label the angle with capital letters.

Video on drawing angle
https://www.youtube.com/watch?v=8SALBfpRwk8

Exercise 3
1.Write the measures of each angle.

b. 30°

Jy//

i

f

b. 60°

0

c. 120°




y

fi

d. 150° HW
2. First guess the measure of each angle, and then measure it

Say what type of angle each is

a. 90° Right angle

b. 135° Obtuse angle

c. 15° Acute angle




d.75° Acute angle
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Time, Speed and Temperature

Concept Section :

Conversion of Time

Bigger to Smaller Unit

Exercise :1

1. Convert to minutes:
a) 7 hours
Ans: 1 hour = 60 minutes
7 hours =7 x 60 minutes
= 420 minutes
f) 8 hours 20 minutes
Ans: 1 hour = 60 minutes
8 hours =8 x 60 minutes
= 480 minutes
= 480 minutes + 20 minutes

8 hours 20 minutes = 500 minutes




C) 6% hours
6 hours + % hours (30 minutes )

1 hour = 60 minutes

6 hours = 6 x 60 minutes
= 360 minutes + 30 minutes
= 390 minutes

e) 11 hours 45 minutes H.W.

Smaller to Bigger Unit

2. Convert into hours and minutes.
a) 540 minutes

Ans: 60 minutes = 1 hour

540 minutes = 540 + 60

=9 hours

) 505 minutes
Ans: 60 minutes = 1 hour

505 minutes = 505 minutes + 60

= 8 hours 25 minutes

c) 240 minutes HW




3. Convert into seconds.
d) 3 minutes 30 seconds
1 minute = 60 seconds
3 minutes = 3 x 60
= 180 seconds
180 seconds + 30 seconds

= 210 seconds
b) 10 % minutes
10 minutes + % minutes
1 minute = 60 seconds
% minute = 30 seconds

10 minutes = 10 x 60
= 600 seconds
600 seconds + 30 seconds

= 630 seconds

) 5 minutes 20 seconds H.W
4.Convert into minutes and seconds.
a) 840 seconds
60 seconds =1 minute
840 seconds = 840 + 60
= 14 minutes
e) 950 seconds
60 seconds =1 minute
950 seconds = 950 + 60

= 15 minutes 50 seconds




) 1500 seconds H.W
Word problem

5.The Shatabdi Express stops at Gurgaon station for 150 seconds. For how many
minutes and seconds does it stop?

Solution:
60 seconds = 1 minute
150 seconds = 150 + 60
= 2 minutes 30 seconds

Ans: For 2 minutes 30 seconds the train stopped at Gurgaon station.

8. Gurpreet runs 1500 m in 5 minutes 43 seconds. How many seconds is that?
Solution:
1 minute = 60 seconds
5 minutes 43 seconds
5 minutes = 5x 60

= 300 seconds
5 minutes 43 seconds = 300 seconds + 43 seconds

= 343 seconds

Ans : Gurpreet runs 1500 m in 343 seconds.

Addition and Subtraction of Time




Exercise : 2
1. Add
a) 6 h 40 min + 5 h 35 min

hour  min
6 40
+ 5 35
11 75

Now, 11h 75 min =11h + 75 min
=11h + 60 min + 15 min
=11h+ 1 h+15 min
=12 h+ 15 min
Ans: 12 h 15 min
d) 25 min 38 sec + 15 min 32 sec

min  sec
25 38
+ 15 32
40 70

Now, 40 min 70 sec = 40 min + 70 sec
=40 min + 60 sec + 10 sec
=40 min + 1 min + 10 sec
=41 min + 10 sec
Ans: 41 min 10 sec
e) 4 years 8 months + 8 years 4 months

years months




+ 8 4
12 12

Now , 12 years 12 months = 12 years 12 months
=12 years + 1 year
Ans : 13 years
2. Subtract
a) 5h 40 min — 4h 45 min
hour  min (2h =60 min)
4 100 (60 min + 40 min)

5 WO
- 4 45
0 55

Ans : 55 minutes
b) 12h —10h 10 min
hour  min (2h =60 min)
11 60 (60 min + 40 min)

2 S0
- 10 10
1 50

Ans : 1 hour 50 minutes




f) 16 years — 6 years 4 months
years months
15 12 (1lyear = 12 months)

(AR V)
-6 4
9 8

Ans: 9 years 8 months

Word problem

a) Ruchi watches two television programmes every day. She watches a cartoon
programme for 45 minutes and a sports programme for 30 minutes. How much time
does she spend watching television every day?

Solution: min
She watches cartoon programme = 45
She watches sports programme = + 30
Total time = 75
Now ,75 min = 60 min + 15 min

=1 hour 15 min

Ans : She spent 1 hour 15 min in watching television every day




¢) Nagma can swim 100m in 3 min 15 sec and Lata in 2 min 55 sec. Who is faster
and by how many seconds?

Solution :
min  sec
2 75
Nagma canswimin= 8, 1§
Lata can swimin =- 2 55
Difference = 0 20

Ans : Lata is faster than Nagma by 20 seconds.
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FRACTIONS

What are Fractions ?

P A fraction is used to represent the portion/part of the whole thing. It
represents the equal parts of the whole. A fraction has two parts, namely
numerator and denominator. The number on the top is called the
numerator, and the number on the bottom is called the denominator. The
numerator defines the number of equal parts taken, whereas the
denominator defines the total number of equal parts in a whole.

5 . .
» For example, = is a fraction.

» Here, 5 is a numerator and10 is a denominator

EXERCISE 1

o=
I
IS
N IS
Il
0|




Q2 Find the first four equivalent fractions by multiplication (multiply numerator and
denominator by 2, 3, 4 and 5 in each case).

2
a —
) 5
4
_x2=_
5 10
6
_x3=_
5 15
2 8
_x4=_
5 20
2 10
_x5=_
5 25
1
d_
)4
1
_x2=_
4
1 3
—X3=—
4 12
1 4
_x4=_
4 16
5
_x5=_
4 20

8 21
a) 16 d) &
8 4 3
16 8 63 9
3—3=_1
9 3
4 2
8'2_4
2 _3_1
84 2 63 9 3
16 8 4




Q4 Fill in the blanks to make the fractions equivalent.

3 18
Fiehdaibry
H.W. h)

Q5 Check if the fractions are equivalent. Put a tick for equivalent and cross for not
equivalent.

ol
[
N

6x4=24

2x12=24

. 2 4 .
Since the cross-products are equal, 5 and 5 are equivalent.

3 15
(C)E’?
5
5x15=75

3x9= 27

. 3 15 .
Since the cross-products are not equal, 5 and ~ are not equivalent.

5 20

@) 2

5 20
11 44




11 x 20 =220

5x44 = 220
. 5 20 .
Since the cross-products are equal, m and 22 re equivalent.

H.W. (f)

EXERCISE 2

Q1 Ring the fractions that are in the lowest terms.




Exercise 3

Q1 Compare the fractions without finding the LCM. Put <, > or = in the :
1) 1 5 5
2% @55

Q2 Compare the fractions and put <, > or =in the

a9 MWiE 3

3:)2
173

LCM of denominators 4 and 3is 12.
3

N N|W
BN B[

N
Verrw

5 LCM = 3 x
XF=-= =212
12

8
XK=
12
8
12

3
!
2i_ 2
3 A

9
—_>
Here, =

3.2
So,=>=
"4" 3

Q2 Reduce the fractions to the lowest terms by dividing

by common factors.

3 17

A 1 17 . .
—+3= = P already in lowest term, as the
fraction has common factor 1 only.

Q3 Reduce the fractions to the lowest terms by dividing
the numerator and denominator by their HCF.




9 3
Sty 6.3 s
= 10 4
LCM of denominators 10 and 4 is 20. 2| 30 a
9 -9 yp=18 2l sl 2
10 0 20 5 5 1
3_3 15 1] af
z:zx5=% LCM =2 x2x 5
= 20
18 15
>
Here, 20 20
9 3
SO,E z
==
5 3
h) ===
16 ]

LCM of denominators 14 and 8 is 14.

SoEx1=2
16 16 16
3 3 &
— =¥ 2 [ J—
8 B8 |
5 ]
Here, — < —
16 ie
5 3
S0, — < —
i6 B

H.W. (e)

2 16| =
2 =) a
2 a 2
2 2 1|
1 1
LN = 2 2 2w 2w 2
= 1&




Q3 Arrange in ascending order.

14 20 2Z4 27

Ascendmg orden—, — — —
30" 30" 30" 30

2
. 1 1 6
ad 1 —==Xb=—
S i i
L. N i Tl ' 3. R i
3w va 3-3%4= 1
Ans: LCM of denominators 2, 3 and 4 is 12. §:§x4=%
3 3 9
e P o
4 4 3 12
2 2 3| 4 6 8
: i : i Ascending order: E TR T
1 1| 2 Ans:i'llzlj
LCM =2x2x3 32 3 4
=12
] 7 2
: ’ 15" 3
=An5'LCMofdenominqmr5 510, 15and 3is 30. 5 5 |15 3
L4 xe= 2% 3 1233
5 30 2 |1 ]|2(1]1
ii:i =27 11|11
':,111 10 30 LCM=5x3x2
T _ T n 1t =30
{15 15 30
fz 2 z0
i===x10=—
'3 30




Q4 Arrange in descending order.

LCM of denominators 14, 7and 21 is 42.
l = i X 3 — E
14 14 42
5_5 30
—_—= - = —
7 7 6 2
11_11 =22
21 21 42
: .30 27 22
Descending order: = = 5
.5 9 11
Ans: 7' 14’ 21

¢ 19 14 12
Descending order: —, —, —
30" 30" 30

19 7 2

Ans: %’E' E

7 14 |7 |21
2 2 |13
3 113
1]|]1(1
LCM =7x2x3
=42




sor LT EEEEETT O ——

8= ===
6L , ‘ 2|9 |8]6|12
Ans: LCM of denominators 9,8, 6 and 1215 72 o 12306
T-Tyge 2 21 9(23/3
1 7. 8 3091]3]3
13 77 BEREIEIE
3-5y19:=8 111
6 ¢ n LM = 2x2x2x3x3
E:l_lx6=ﬁ N
2 1 7 i
. 66 63 60 56

Descending order: T i

11757
M TTe s
HW. (f

5. Mohan and Sohan have the same storybook.
Mohan has read % of the book and Sohan has read ; of the book. Who has read more pages

Solution:

Mohan read = = of the storyDOOR

Sohanread = -3 of the storybook

Taking LCM of 5 and 7 is 35. 7

§x7=% 1 1

X . LCM=5x7

FheEe =3

Here, 4> 10
35 35

2

2
$0,=>=
5§ 7

Mohan read more pages than Sohan.




Exercise 4
Q1 Add.

Sqd
8 4

LCM of 8 and 4 s 8.

| w
+

x]+éx2

P

n

wlon wlw olw
+
el

~
- o e oo
— e ro |

LCM=2x2x2
=8

2 1
33

LCMof 3and é s é.

+

w |
o |
"

x2+—:x|

n
alen ol wie
o+
o |

Q2 Add. Give the answer in lowest terms.

[CM=3x2

o3+2

LCM of 2 and 6 is 6.

1 1 1 1
—+=-==x3+ —=x1]
2 6 2 6
3 1
=— 4+ —
6 6
4
=—+2
6
2
3

1

1

L(M=2x3
=6

H.W.

1 75
s N 08
d) 5 15

LCMof5and 15is 15.

15




Q3 Add. Give the answer as a mixed number.

O)3+L LCM 5 5 |10
5 10 2 1 2
LCM of 5and 10is 10. 2 1
B T 3 7 —
E-|-E_E>(2-+-R><] LCM =5x 2
=%, 7 =20
10 10 MIXED NUMBER
:E
10 " 11— |Q
Mixed number = Q De 10 13
_-10
— ]_3 3 » R
10
2 3
i B
c]3 4
. LCM 3 3 a
LCMof3and 4is 12. 2 1 4
z i B 2
E+E:EX4+EX3 1 1
3 4 3 4 LCMWVI = 3 x 2 x 2
_ 8.9 =1z
T 1z 12 MIXED NUMBER
=17 1—» Q
12
. R De——1 1
Mixed number = Q—D 2
: ;




[ of milk in the morning and / of milk at

night. How much milk does she drink every day?

Solution: . LCM of 4 and 5 is 20. 5 [0

514

Quantity of milk Upasana drinks in :‘ +§2= :1 x5+ é" 4 214
the morning = T :_ 5,8 21112
Quantity of milk Upasana drinks in A 13‘20 11
the evening = él B= ol LCM=5x232
Total quantity of milk she drinks =?D
everyday = |
o
4 5 I

B i

S T ) L 0

5. One day Akash walked EZ km from home to school. On his return he took

another route which was g km long. How much did Akash walk in all?

Solution: Zem + > km :Ex5+—3x3
Akash walked from home to school = = 5 310 9 5
2 =4+ =
3 km 15 15
3 19
He took another route = =km = —
5 15
Akash walked in all = 2km + 2 km _ 14
3 5 =15
LCMof3and 5is 15.
5 51|15
3 113
111
LCM=5x3




EXERCISESS

De— 9 3

R
:Q_
D -36
= 42 =
9 2—» R
d) 4,21
3
Ans: LCM of 3and 1 is 3.
=4+7=2x3+7x1
3 1 3
12 7
= — e —
3 3
19
=1 b— Q
-t De—3 19
D
. -18
= 6_
3 1— R
3 2
g)z_’]_ 2 4 3
ns.: : E—T 3 3 1 3
LCM of 4 and 3is 12. o= 2x2x3 1 1
11, 5_ 11 5 SEXEX
T+€_Tx;'_’.+§x4 =12
_ 33,20
T 12 12
= 53
12 4— Q
-=p De—12 53
5
= E 48

HW. (h) 5— R




3. One day there was no water in the house. Alam and Shalu brought water
in buckets from a well. Alam brought 10 -/ and Shalu brought 6 /.

How much water did they bring in all?

Solution:

Alam brought = 10% 7
= 62

Shalu brought = 6 o /

Total quantity of water they brought = 10% =k 6% l

51 , 69
5 10 2 [5]10

LCM of 5 and 10 is 10.

1 9

LM =2x5
=10

EXERCISE 6

* 102 69 0 oL 2
=0+ — D [7
ot w0 11

10
= 171 _71
10 r
i 70
=175 01— R

Ans: They brought 17 1—; [ water in all.

Q1 Subftract:
3_2
a) 4 3

LCMof4and 3is 12.

3 2 3 2
4 3 473 -3x4
_ 9 8
T T
_ 1
-
5 1
V-3
5 1 5 1
63 e 27 3x3
LCMoféand 4is 12.
10 3
TR
7

2 4 3
2 2 3
3 1 3

1 1

LCM=2x2x3
=12

2 6] 4
2 3] 2
3 3] 1
1 1
LCM=2x2x3
=12




S
3 8 2 8 3
LCM of 3 and 8 is 24, T 1
3 1 3
l_l:_xa__x‘?, 1 3
3 8 LCM=2x2x2x3
_ i_i =24
24 24
= 5
24
a)4 -3
4 3_21_1
1 2
LCMof]o d2is 2.
1_1 = 2_1)(1
1 2 2
=8 _7
2

NIHNI&....|




LCM of 3 and 41s 12. > 12 [ a
2 a1 2
2_1_5=Ex4_1_5x3 & i
3 4 3 4 LCM =3 x2x 2
= 80 45 =2az
EVEEY)
=35
12 2 'Q
s gt
T 12 De—12 35
H.W. (h) -4

3. In a long jump competition, Ballabh jumped 5% m. Maninder

jumped 4 % metres. How much more did Ballabh jump than

Maninder?
Solution: 33 i -2lyp= 3 pq.. 2
015 w0 *1-5x%2
Ballabh jumped =5 % m _ 53 42
i 10 10
Maninder jumped =4-m _1 De—10
10
Ballabh jumped more than Maninder by 1 4l
= B m-A 1 =lggm
IERET) 5 .
52 m -4 m=3m-2m Ans: Ballabh jumped ]E m more than
10 5 10 5 )
LCM of 5 and 10is 10. 2|50 Marinder.
5(15]|5
1)1
LCM=2x5

=10




5. Of the [ of milk bought in the morning, / was left at the end

of the day. How much milk was used up?

Solution: 42 | lif=27 20
i 2 "7 20Ty
Milk bought in th ing=4— 1/
1 ougit 1 the morning 2 :;gx7- 73x2
Milk left at the end of the day = > / G e
; Ly B BETRET!
Usedupmllk=4gl-;/ s
LCM of2 and 7 is 14. 14
2 2 7 ]
14
7l a7
1 1
HCF= 2x7

=14

MENTAL MATHS (PAGE NO.84)

1.8
"2 6 4 19. What fraction added to % makes 1?
3. What is — in lowest terms? 3 s5_3
8 . _
Ans: 1 -==——
1 5 5
Ans: = 2
: : 2 22 2 5
4. Arrange 1n ascending order: L
222 2
e
975 3

6. How many quarters are there in 4?
Ans: 16 (4x4=16)
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